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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filing two or more circles will result in zero mark in that question.

The complete map of human genome was published in ; lﬁélﬁ.ﬁ-ﬁs’rﬁ J"LZL;JLJI 1-1
2005 (D) 2002 (C) 2000 (B) 1902 (A)
Symbiosis in which both partners get benefit is example of : q_Jﬁ'L&?L Lﬁfu’GQ}u;upCuﬂJ';fdf 2
Competition kG- (D) Predation /€2 (C)  Mutualism r’r‘fxf (B)  Pargsitism fiIef i (A)
Example of rhizome stem is . 3 : ,;_dﬁ»Ja;,;JI; 3
Garlic u’-”‘ (D) Onion Jk, (C) Ginger /2! «(B) Potato #T (A)
E. coli bacterium was made in : 5 fkbﬁ/;-_ﬁ;jufdl 4
J 1970 (D) 1977 (C) LA %975 (B) J: 1980 (A)

Which structure plays an important rote for pushing the aitouf of lungs : :::_.d/[(' kel Bl Usiafons LSy |5
Bronchiole dzgm (D) Diaphragm(.'}yi (&) Bronchus (/+4 (B)  Nasal cavity Q’_}_{U,c (A)

Theory of natural selection was presented by : : gfjﬁ#,, )5"!5'5'.‘-:;3;,5 6
Malthas LJ‘;JL (D) Datwinl /3 (C) Lamarck i OLU (B) Aristotle & (A)
The maintenance of temperatureift ternal human body is called : : ‘at'lkv'/ @,; ii':(c.-;lfg,r;duﬂﬁ()‘ L.}L-Ji 7

Osmoregulationu)%f.r:" I (B) Thermoregulation Oﬁ_d}fjr/; (A)
Gtittation uﬁ-'y’ (D} - Respiration D (C)
Part of embryo makesjcot : ; q.;?'i?c,_ﬁwig A48
Plumule Jx3 (D) Radicle Lﬁ.é.* (C)  Epicotyl J@:‘E@f (B) Cotyledon cJ,E;JJE/ (A)
Length of spinal cord is : ? {...JLJJ $JKJ',[;- 9
#5510 cm (D) HE720em(@©)  KE30cm (B) #5540 em (A)

It is the unit of nervous system ) Ld{“‘;f—zf)/ 10
Receptor %+, (D) Neuron iz (C) Nerve 1/ (B) Ganglions nl(jb( (A)
Diazepam is : L oerhdibis 11

Vaccines ﬁ’g! (D)  Narcotics u—%; (C) Hallucinogens /’.#J:J:r‘ (B) Sedative %4~ (A)
Human skeleton contains number of bones : : ‘L.JU;'JU,}_’,E-J:“%JLJF 12
106 (D) 206 (C) 306 (B) 406 (A)
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( PART -1 Jil ) :
10 2. Write short answers to any FIVE () questions :  : & wyiz & £ =i (5) §4 < &f -2
(i) Differentiate between glottis and epiglottis. -g-’fyw"}ucﬁf@wujﬁ (i)
(i) How does the gaseous exchange occur in leaves and fe t‘ﬂc_:..r,.b? Kur:’iﬁuﬁﬁ /J:{J:ru:'é (i)

young stems? o
(iii) Define hydrophytes and give an example. -ﬁ'JJl}mz-f_f._y/’Ju"’Gufﬂ (iii)
(iv) Write down the method of lithotripsy. ..é’f..'i_{ ¥ U‘-?)r;'-'! (iv)
(v) What is meant by succulent organs? Give an example. Sttt e /‘C Tudf (v)
{vi) Write down the function of occipital lobe. ' ..Zf_fg/{f’ b’....f:‘g,}’.’.‘o'( T (vi)
(vii) Differentiate between sympathetic system and S WOIR T B (Vi)
narasympathetic system. .
(viii) What is meant by brain stem? ?.lg:yy{a..(-'-"' L« (viii)
10 3. Write short answers to any FIVE (5) questions : : & oz Z L Jur 8L 8 3
(i) Differentiate between flexion and extension. ‘e J/'g_fut u'?"t.'J'f Lufv,r‘p ()
(ii) What is meant by osteoporosis? ?“;_;yy’.;.g‘?fg&,l (ii)
(iii) How binary fission take place in invertebrates . _ZH R 595”4’&6}';&@&,{;:&! (iii)
give an example?
(iv) Define endospores, give an example. -’c‘fl':&dt‘éwl’jé—.éff&nrsial (iv)
(v) Write the name of two important parts of angiospésmic seed. dé';g ¢ il u:‘"(T 1588 e e gamnl (V)
(vi) Differentiate between breeds and cultivars. ?g_J}LJU.' J;I:o}{tl}é,e (vi)

(vii) Define the Mendel's law of independent &ssortment. ..i-f_-’*l._@ /""J..:.-vf:ru..-‘i:;dﬁ STl Joz (vii)
(viii) What is meant by natural sefection, ‘also give an example? RZNLY A e st dui (vill)
10 4. Write short answers to afy FIVE (5) questions : & wyz & £ =iir (5) 8} = 0 4

(i) What is giobal warming? ?ﬁ;!.._/ .ﬁ;l;&f (i)
(i) Define aicohglic fetmentation. Ry Jf‘?ﬁ (i)
(iii) Give uses of glycerol. _éugauwféd:} (iii)
(iv) Give twoabjectives of genetic engineering. nﬁl sl ok }.‘.”lu@:ﬁ' (iv)
(v) How gene of interest is isolated? ?;_::_Hgygw.{‘fdfﬁ@é: (v)
(vi) Explain drugs from animals. qéé?ujd/&iﬂiu/wb&uu!i'f (vi)
(vii) Differentiate between antibiotics and disinfectants. _ajé'ugJ/Lf:M1 el .niu'gfu?-l (vii)
(viii} What are narcotics? ( PART-TI 5 ) ?uj{')ff‘?:t (viii.}
Note : Attempt any TWQO questions. ' ..F:.G .:,I,F;?J:..:a Ulrm:.,df Y
5 5. (a) Describe the osmoregulatory role of kidney. -ﬁugﬁdﬂfgjﬁi&.:f M -5
4 (b) Explain the structure of neuron. _Z_{Zfls..-:.-}‘LfJubﬁ (&)
5 6. (a) What is bone? Describe its structure, ugiu;gquw?ugiéusz ) .6
4 (b} Describe the advantages and disadvantages of _ZE e blinle 6L iy it Uy (&)

vegetative propagation of plants.
5 7. (a) Whatis acid rain? Describe its bad effects. Bt 220 S VTNGE D) 27
4 (b) Discuss role of biotechnology in the field of food _é'.é.-i_;ﬂ:fi KA S22l =i S (L)
and agriculture. 215-018-11-{Essay Type)- 51000 -to~2-1 &



